2 ENEFZBF20225 LR T AR P 5

1. EHEE
THHFERETFXM—TTIRFERR( )

1 1

A ax24bx+c=0B. 7 *=2C. x242x=y2—1 D. 3(x+ 12=2(x+1)

2. PR
— TR BEE—5)2=x—5KEL ()
A. x=5B.x=6C.x=0D. x1=5, x2=6

3. EHEE
AR T —Io IR F FEx2 - bx+c=0MIFIR 2 A Ax1=1, x2= -2 bScHESHIA [ ]
A. b=-1, c¢=2 B. b=1, c=-2 C. b=1, c=2 D. b=-1, ¢c=-2

4, TP
FAB 5 AR5 1Ex2+10x+9=0, ABFAH( )
A. (x+5)2=16 B. (x+5)2=1 C. (x+10)2=91 D. (xF10)2=109

5. LFEE
mE, ZMHRT/PEREMER G, MNEZ: “HEREARAS, PEEZ: “HTEE R
=1, WRINA O

| B’ —SxtcH1—0, WEN— G MBI BN )

A. RAE/MNEEIZE IER B. R A 2NE B2 IEH

C. /M /DEREIEHIER Do/MEL /DNERIEIZEAS IEF

6. EFERR
B —HIE T e RV A & B AWK A3emI /N ESA T, MB— AN EENET, CHET

IR A 3000m 5, Tl JE ek Bz i KR ()
A. 10cmBz13cm C. 14cm DN6em

7. PR
SR TxH— T8 SR AR —2)2x2+ k+ Dx+ 1 =0F HA RS 2R, WkrBUE 76 E
= ()

4 4 3 3

A k>3 Hk#2 B. k>3 Hk#2 C. k>4 Bk D. k>4 Hk

8. T
HHEIx (x-1) = (x+2) (x-2) +9klax2+bx+c=0fIFE RN .

9. 3E 7S
b a

Bk ¥a, bREIEQ—x— =0T, Mo bHEN .

10. EF
AN—ILETEKR, EERZEANRAPFEMEANFZE—0/MMLUE, £ EZE3064 /ML
mm, MNZIEE 2.




